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GENERAL INSTRUCTIONS

Examinee is directed to read carefully the following
instructions :

afterrf =i fFreferfiaa féa @1 wm & e 3 for fefim fmm smen &

R21te1 o e

3]

10.

11.

. Examinee must write his/her Roll Number in the

specified box on the top left hand corner of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

. Besides filling in the Roll Number, the examinee has to

put his/her signature on the Answer Sheet and also fill
other required details like Name, Roll Number, Question
Booklet code, etc. as indicated on the Answer OMR
Sheet. If these details are not filled in by the examinee,
his/her Answer Sheet will not be evaluated.

. For each question, there are four alternative answers,

out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only. In case of giving more than one option
to a question, it will be counted as wrong answer and
marks will be deducted accordingly.

. There are 40 (36+4) pages in this Question-Booklet

including 1 page for General Instructions and three
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the exam.

. This Question Booklet contains 150 questions from

following subjects :

(1) Engg. Physics Q.Nos. 1-50
(2) Engg. Chemistry Q. Nos. 51-100
(3) Engg. Mathematics Q.Nos. 101-150

. Each question carries 1 mark and % mark will be

deducted for each wrong answer.

. In case of any discrepancy between the English and

Hindi versions of any question, the English version will
be treated as final/authentic.

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager etc., are restricted during the examination.

Any leaf from the Question Booklet should not be
detached. After the Examination, Answer-Sheet must
be handed over to the Room Invigilator.

During examination the examinee will not be allowed
to leave the examination hall till the END of the
Examination.

Examinee can carry Question Booklet once the
Examination is completed.

10.

11.
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ENGG. PHYSICS

1. If the ammeter in the given circuit
reads 24, the resistance R is

3Q

—AMA
R
— W
6Q
MWW
® &
JA1Q
B) 2Q
C)3Q
D) 4Q

2. 1 kilo watt hour is equal to
\;A) 36 x 10° joules

B) 36 x 10° joules

C) 10%joules

D) 10° joules

3. A cyclotron is used to accelerate
protons, deuterons, a-particles, etc. If
the energy attained after acceleration,
by the protons is E, the energy
attained by o-particles shall be

A) 4E
B) 2E
C) E

E
D)Z
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B) 2Q
C) 3Q
D) 4Q
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A) 36 x 10° &
B) 36 x 10° 5@
C) 10° 9=
D) 10° S

3. T HIFAIZH 1 T SEH, SR, 0.3,

31 <l waia 0 & g frar mr € 1 afe
WM T TR o a7 W i T F E
R, T o GRY WIS <Y TE St gt
A) 4E

B) 2E

C) E

E
D)-Z

02 EE(LE)




4. The magnetic field on the axis of a
long solenoid having n turns per unit
length and carrying a current I is

A) ponl
B) pon’l
C) uonI2
D) None of these

5. At a certain place, the horizontal
component of earth’s magnetic field is
J3 times the vertical component. The
angle of dip at that place is

A) 60° B) 45°
C) 90° D) 30°

6. A stressof 3.18 x 10°Nm™is applied to
a steel rod of length 1 m along itslength.
Its Young’s modulus 1s 2 X 10" Nm™.
Then the elongation produced in the

rod in mm is
A) 3.18
B) 6.36
C) 5.18
D) 1.59

. Cohesive force is experienced
between
A) Magnetic substances
B) Molecules of different substances

C) Molecules of same substances

D) None of these

Page No. 4 |
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A) ponl

B) “0“21

C) ponl”

D) ¥ @ FE T
5.@%121!?“‘1@%@5*”%*‘

s e, SR TR B3 TR

A) 600 B) 45°

6. 1 m T e T W 9% T TN

F g@ BR % 3.18 x 108 Nm™ % 71
s T S R | SE A A

9 x 101 Nm™2 2, <1 83 # 39 i
T
A) 3.18 ¢ .9 @ -
3 o"k‘ii’
C) 5.18 > X1
D) 1.59 p
7. GESH I + 9 negw &
Elci
A) e g
B) fafir=1 wgret & 3y
C) T9H verai & a1y
D) 37 | wré 7E
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8. Volume, pressure and temperaiture of
anidealgasareV,Pand T respectively.
If mass of its molecule is m, then its
density is (K — Boltzmann constant)

A) mKT

B) i
KT

s
KTV

Pm
D) kT

0

9. How many times a diatomic gas
should be expanded adiabatically so
as to reduce the root mean square
velocity to half ?

A) 64
B) 32
C) 16
D) 8

10. Infrared radiation is detected by

A) Spectrometer
B) Pyrometer
C) Nanometer

D) Photometer

11. Inap-typesemi-conductor, germanium

is doped with
A) Oxygen

B) Phosphorus
C) Aluminium
D) Silicon

“ Page No. 5
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10.

114

T e N9 % e, g 3 ar
wA: V, P 3R T & | fe 5a% awp =
TEHE m 8, 0 39 O R

(XK — seewi fradi)

A) mKT

Seiip.
KT

P
O KTV
Pm

D) kT

. @ fgummifess g =) iy 9 @ feaar

o fereqa B =nfye il A e me
1 3T B/ A ?

A) 64

B) 32

C) 16

D) 8

TR foRTen 1 Tar TR AT

Sar R |

A) TFfiR
B) qrgfie
C) Frfix
D) wrenfix

T p-FhR % arefemers #, wfam &
_ HiftcmeR e g
A) e
B) ®HieHRE
C) Teyiirm
D) fafeeta
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12. 5/ NPN gifseet # us yads & w9 #

12. When NPN transistor is used as an
amplifier T fRan STt & 9
A) Elect . move from base to 3
i A) SR YR & T H 3 Tl &
collector
B) Holes move from emitter to base B) fi5g Icasis ¥ TUR H 3N Fed §
C) Electrons move from collector to . "
C) T T Y JMUR #H 3R Fed
base ) §
D) Holes move from base to emitter D) f&g 3mumr ¥ Ieweih HI 3R I §
13. An object is kept at a distance of 60 cm 13, T T F T IFad g40 & 60 cm A
from a concave mirror. For getting a Eg?t @ AR | % T YT I
magnification of y, focal length of FQ ¥ foru Fifoa sEaa adur Y BrH
the concave mirror required is T 3
A) 60 cm A) 60 cm
B) —40 cm B) —40 cm
C) —20 cm e ‘ C) —20 cm
.- D) 30cm / D) 30 cm
14. If the critical angle for total internal 14. e Aem  Frata & qof iaies TUEd
reflection from a medium to vacuum is 30°, fau swifes 0T 30° &, o qreg H WeRTT
the velocity of light in the medium is R
A) 3x10°ms™ A) 3 x 10°ms™
B) 1.5 x 10°ms™ Ny ; B) 1.5 x 10°ms™
\
C) 6 x 10%ms™! o ﬁ’»‘;\y 14’( C) 6x 10®ms™!
8 _ -1 \' /o b ' 8. -1
D) /3 x 10°ms Q\J% D) V3 x10°ms
15. A convex lens of focal length 40 cm 15. 40 cm BT ETs &1 Tk 39d oiF 25 cm
is in contact with a concave lens of HIHH TETS o Teh el O o G | g |
focal length 25 cm. The power of the A 6 wifd 8
combination is "
A) —15D ) -1.6D
C)+65D C) +6.6D

D) +1.5D D) +1.56D
A m 02 EE(LE)
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18.

19.

g

F:
st

If a magnetic substance is kept in
a magnetic field, then which of the
following is thrown out ?

A) Paramagnetic

B) Ferromagnetic

C) Diamagnetic

D) Antiferromagnetic

A coil of area 100 cm® has 500 turns.
Magnetic field of 0.1 weber/m? is
perpendicular to the coil. The field
1s reduced to zero in 0.1 second. The
induced emf in the coil is

A1V
B) 5V
C) 50V
D) Zero §

A2

"
oY
= R

-

o L%
- ' 0

w
LA

\\\’,
W7
(;,,

%
~ Vv
o
<0
’O’\’
\,)_\.

A circular coil of mean radius of 7 cm
and having 4000 turns is associated
at the rate of 1800 revolutions per
minute in the earth’s magnetic field
(B = 0.5 gauss), the maximum emf
induced in coil will be

A) 1.158V
B) 58V
C) 0.29V
D) 0.58V

The de Broglie wavelength A
A) 1is proportional to mass
B) is proportional to impulse

C) inversely proportional to impulse

16.

17.

18.

19.

Ife T gEh wgred i U gahig &9 o
@l 9T 7, af fefafea 8 | R am
% fe smom ¢

A) JTIEHE

B) wieq=ha

C) wiegaha

D) wiaeiagah

100 cm? ST ! Th Foedt & 500 ga =
21 0.1 weber/m? &1 Jehig &7 HSA ®
HHad 2 | 87 0.1 s AT I W@ § |
Feeht § I fvarw &

A) 1V

B)5V

C) 50V

D) =

Mem B4 7 em 3 4000 gHTET ATl
T JAHR S gt & JahA &
(B = 0.5 7)) ® 1800 YA wfa fore
H1 A I 7, Feat ° Ia atftrpan
§H.TE. g

A) 1158V

B) 5.8V

C) 0.29V

D) 0.58V

2 STelt qhTes A

A) FEIH & T &

B) 31187 % G &

C) e & Wil U R

D) does not depend on impulse D) manm w it 7 &
D o2 (LB
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20. The photoelectric effect can be 20. e~ Terreta TaTE L H AR W

understood on the basis of FmE &1 Gehdl 2 |
A) The principle of superposition A) SeeT 1 g
. B) l’li‘él}ft electromagnetic theory of B) W WWW
C) The special theory of relativity C) e H fersre Rrgra
D) Line spectrum of the atom D) 9] hl @ WA
21. The ultimate individual unit of 21. fomeft e # grehed 1 ifom AfFRTT
magnetism in any magnet is called TR FET 8 |
A) North pole B) South pole A) W gd B) <féror &
C) Dipole D) Quadrapole C) feya D) Iqega
22. At which place, earth’s magnetism 22. fFE TR W H%ﬁ <hl ﬁa?ﬁ?a afaw &
becomes horizontal ? JAMTR ?
A) Magnetic pole A) ﬂ'q'a‘.ﬁq G|
B) Geographical pole B) wimfete qd
C) Magnetic meridian C) gaehig gage
D) Magnetic equator D) gahia fagad
23. The radius of curvature of the path 23. T% GAM g 87 H ARE 0 F Uy
of the charged particle in a uniform £ Trar BT F TG
magnetic field is directly proportional to A 2
A) The charge on the particle A) U T M
B) The momentum of the particle B) YT 1 GaT
C) The energy of the particle C) o1 < i
D) The intensity of the field D) &= Y TETal
~
24. Three bulbs of 40 W, 60 W, 100 W are 24. 40 W, 60 W, 100 W & & 5w 220 V
arranged in serieg v&_fith 220 V supply. Sk ] ¥ Ty m % wafer e m ¥ |
Which bulb has minimum resistance ? T . T 37
~A) 100 W A) 100 W
B) 40 W B) 40 W
C) 60 W C) 60 W
D) Equal in all bulbs D) @it ge=i § wwm
£ o e 02 EE(LE)
g, 1 e TRt g
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25. Onincreasing the plate separation of 25. T MK gufy % UfgeRT srema @ g
a charged condenser, the energy T FHaAt
A) Increases A) Tt 8
B) Decreases B) &4 gl 2
C) Remains unchanged C) smafafda wd 2
D) Becomes zero D) 3= B et ?
26. The equation of state of some gases can 26. %o M4 HI JGEA1 %1 g
beexpressedas (P + %) (V - b) =RT. (P + %) (V - b) =RT % =9 % wtfyeraa
A% A%
Here Pis the pressure, Vis the volume, ferr 1 e 2 | g Pe= %, V IA=aa
T is the absolute temperature and 2T T’f qaHE ] 30K a, b, R frais 3
a, b, R are constants. The dimensions o &y fomd & T s
of ‘a’ are \ 5 s M\:"T’ */ﬂa>
A) ML*T? A) ML;F 2 K y C8 A
B) ML'T? B) ML™'T 3/\;7 o >
C) M*LT™! ¢ M*LT™ N S A fy.7
D) ML°T 2 D) ML°T 2 e v
/\y
27. Light year is a unit of 27. maﬁ§ﬁ@§m§% I\‘M/ 1
A) Time A) g \i ,(\/ \0\/
B) Mass B) s&mH ™h \ g
C) Distance 0) @ )
D) Energy D) St
28. A body falling from a high minar 28. Th Sl HAR & T W fieen gan o= fie
travels 40 m in the last 2 seconds of JfdH 28HES T 40 m A @ AR |
its fall to ground. Height of minar in TR FAE m TR (g=10 ms )
metres is (g = 10 ms™?) A) 60 4 ’*’“7170
Py - ’ Y
£) 60 B) 45 . AN |
4 > N
22 €5 C) 80 oV L APEND V- 2
C) 80 ’fr\ _,{\I “j é Q\r’(/
£ o o~ VR
D) 50 D) 50 %,}_,\ »; \
A Page No. 9 . ) 02 EE(LE)
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29. A cyclist turns around a curve at
15 miles/hour. If he turns at double
the speed, the tendency to overturn is
A) Doubled
B) Quadrupled
C) Halved

D) Unchanged

30. A bullet is to be fired with a speed of
2000 ms™' to hit a target 200 m away
on a level ground. If g = 10 ms 2, then
the gun should be aimed

A) Directly at the target
B) 5 cm below the target
C) 5 cm above the target
D) 2 cm above the target

31. A particle is executing SHM along a
straight line. Its velocities at distances
x; and x, from the mean position are
V, and V,, respectively. Its time period is

2 2

A) 27 Xg X12
Vl _VZ

V2 4 v2

B) 2 12+ 3
Xl +X2

V2 2

0) 2m|—5—
Xl _X2

2 2

Xy ~ X5

D) 2n —

29. U HEfES HAW T H TW AR

30.

31.

15 miles/hour W ggaT & | If¢ 9%
S Tifa & e 8, @ sftered it wgha
__ Awdg

A) gt

B) =R T

C) ameht

D) yufafda

T el 2000 ms™! 6t fd A TF ToadA
HEgH W 200 m F TH AL W grf AA
3 Iaﬁg=10ms—2%,?ﬁﬁﬁwﬂw

W g1 =M | 1A

A) #9 T8 NPT o

TR Y. (v AWg

B)E'?Eqﬁ5cm=ﬁ€ C"_‘\*d\\ :

C) 9@ d5cm W 0043
D) T Y 2 cm W
T HU T Hieft @ & gy w9 e

e @ 8 | e feufa | xR x,
gfelt ot 3w 9 AR Vv, E |

Ohl Ty 3|y 2
A) 2 Xg X%
Vi - V2
B) 9 Vi + V2
x2 +x3
2
o) 2 [ =Y2
XT“XZ
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32. The phase difference between the two
particles situated on both sides of a

t

node 1is
A) 0° B) 90°
C) 180° D) 360°

33. The charge q is projected into a
uniform electric field E. Work done
when it moves a distance Y is

Y Y

) R B) 4t

‘ qE E
qE

C) Y ‘D) qEY

r'd

34. The energy required to charge a
parallel plate capacitor of plate
separation d and plate area of
cross-section A such that the uniform
electric field between the plates is E, is

A) gE*Ad
L serio
B) ;& Ad
1 02
C) Sek” /Ad
D) g% /Ad

35. In a conductor, if 3000 coulomb of
charge enters and 3000 coulomb of
charge exits in time 10 minutes, then
the current is

vA) 5 ampere
B) 10 ampere
C) 2.5 ampere
D) Zero

32.

33.

34.

35.

R a¥

A) oF B) =

C) %‘? D) qEY

qfgeht IETE d 3 IR FIE HT Ui

AT A F Th GHIGT gt aife =

el = % fore Tifea ot 39 g e
- ufgeriati % e @am Sgd &9 E R, i
A) gR2Ad
R

B) —esE2Ad £ .,

2 A

0 %e‘OE?‘ /Ad

D) g2 /Ad

T GaTesh 1 A7 10 e @ 3 3000 9

Y Wy el & 3 3000 Heiw AW

et feheran R, ot foga @ ’ ‘

A) 5 TR

B) 10 tfiRR

C) 2.5 wrdfle

D) I

Page No. 11

ww A F O oin o @ woi e
A) 0°

) 180°
T e 99 B oW o % vafa

fopan T @ | S F® Y gt o T @, A
fera T W 2 '

B) 90°
D) 360°
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36. If the angle of prism is 60° and angle

of minimum deviation is 40°, the angle

of refraction will be
A) 30°
B) 60°
C) 100°
D) 120°

37. What will be the input of A and B
for the boolean expression

(A+B).(3-B)-1°
A) 0,0
B) 0,1
C) 1,0
D) 1,1

38. A radioactive sample has a halflife of
1 year. The fraction of this material,
that would remain after 5 years will be

Ay 2
D2
1 Ve
B) - oy, A
G ¢
5 \,"j . \/{77" ’\f
1 g%
C) 5 .a}\ \\ //%
[V
4 v 70 ¥ N
D) 3 L s - A
P i f> \’%/ ({Q/

39. Two lenses of power + 12 and — 2
diopters are placed in contact. What will

be the focal length of combination ?
A) 10cm

B) 12.5cm

C) 16.6 cm

36.

317.

38.

39.

fe frew 1 F0r 60° & 3 =pen fraer
51 FI 40° B, T UL BT BT
A) 30°

B) 60°

C) 100°

D) 120°

afrr wifveafd (A +B). (A -B)=1
FRCAINBHFGEFATLE ?
A) 0,0

B) 0,1

C) 1,0

D) 1,1

e Wt T A Iwig 1FE R 1
veref &1 RF-a1 9T 5 94 =@ ot @ 7

A)

B)

C)

O N O =
ml"‘

D)

+12 31K — 2 SR i fFl ad QA
R "ok F @ R | w6 e
eI IR

A) 10 e¢m

B) 12.5 em

C) 16.6 cm

D) 8.33 cm

D) 8.33cm
(Ve No, 12 Ak
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40. In vacuum, an electron of energy
10 keV hits tungsten target, then
emitted radiation will be

A) Cathode rays

B) X-rays

C) Infrared rays

D) Visible spectrum

41. The mass of ship 1s 2 X 10" kg. On
applying a force of 25 X 10° N, it is
displaced through 25 m. After the
displacement, the velocity acquired
by the ship will be

A) 12.5 ms !
B) 5 ms~}
C) 3.7ms™
D) 2.5 ms™

42. A body whose momentum is constant,
must have constant

A) Force

B) Velocity

C) Acceleration
D) All of these

43. A force of 5 N making an angle 6
with the horizontal, acting on an
object displaces it by 0.4 m along the
horizontal direction. If the object gains
kinetic energy of 1 J, the horizontal
component of force is

A) 15N
B) 25N
C) 35N
D) 45N

Page'No, 13

40. Frafa ¥ 10 keV H F91 H1 Th TG

ST @R W T 2, Seatia fafe q;‘?’
LAl 6 4 Y
A) g fec L
B) X-frwi . 0~ ey
C) arata TR xR

i S 1
D) ¥4 WagH r: (D%

¢z WV

41, UF SE H FEAA 2 % 107 kg B LA

Vs

25 x 10° N & T T T W T8
95 m Taeafia & s R | feaE &

aﬁmmmﬁmwéﬂ%vfwg
A) 12.5 ms™ s o
B) 5ms L
C) 3.7 ms ™ - g
D) 2.5 ms ™

42. T fig #1 e a2, SEH
+ft fora g | ;‘\
A) '
](3); ac—:wr 49 /f)\\ 4
D) 3 ot s\u

43, T w& T 5 N 1 9@ oat @ s fafes
¥ T O U T @ R, T TG Pl Qe
fean 1 0.4 m Freerfa TR 1 AR T
1 J <t TR S T A R, @
et weh B
A) 15N
B) 2.5 N
C) 3.6 N
D) 45N

02 EE(LE)
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45.

46.

. A block of mass 10 kg moving 1n
x-direction with a constant speed of
10 ms ™ is subject to a retarding force
F = 0.1x J/m during its travel from
x = 20 m to 30 m. Its final kinetic
energy will be

A) 450d
B) 275dJ
C) 2504J
D) 475 J

A satellite which is geostationary in
a particular orbit is taken to another
orbit. Its distance from the center of
earth in new orbit is 2 times that of
the earlier orbit. The time period in
the second orbit is

A) 4.8 hours

B) 48+/2 hours
C) 24 hours

D) 24\/5 hours

A metal block is exposed to beams
of X-rays of different wavelengths,
X-rays of which wavelength penetrate

most ?
A) 2A
B) 4A
C) 6A

D) 8A

(Page No. 14

44.

45.

46.

e frera it 10 ms~! ¥ = x-fean 4
<eral g3 T 10 kg GeAHM I AT
xz20mﬁ30mﬁ$ﬁmuﬁn%
a‘“*rmF=o.1xJ/mazﬁawa%anﬂq%|
mﬁmmmm

A) 450d

B) 2754d

C) 250J

D) 475d

e fardr et o speenfirers IuUE i gEA e
¥ S Srn T @ | 7 e H g & hn

o gt freeht a3 QTR } | gEd
# oy IEfy 2

A) 4.87%

B) 48+/2 ©e

C) 24 %

D) 24+/2 ®

w U @ % faiE soeeda S

X-foroit 3 U 3 v e # | fore aoeda
Tt X-frwl aftes 9eR Sl ?

A) 2A
B) 4A
C) 6A

D) 8A
02 EE(LE)



44. A block of mass 10 kg moving in
x-direction with a constant speed of
10 ms™ ! is subject to a retarding force
F = 0.1x J/m during its travel from
X = 20 m to 30 m. Its final kinetic
energy will be

A) 450 J
B) 275 d
C) 2504d
D) 475J

45. A satellite which is geostationary in
a particular orbit is taken to another
orbit. Its distance from the center of
earth in new orbit is 2 times that of
the earlier orbit. The time period in
the second orbit is

A) 4.8 hours

B) 48+/2 hours
C) 24 hours

D) 24+/2 hours

46. A metal block is exposed to beams
of X-rays of different wavelengths,
X-rays of which wavelength penetrate
most ?

A) 2A
B) 4A
C) 6A
D) 8A

Page No. 14

44.

45.

46.

e fora Tifd 10 ms™! & @ x-feun #
=erdl g3 T 10 kg SEIHM I A1h
x=20m q 30 m T N FH AT H
aszo.li/m%ﬁEW%m%l
zgh! sifm Tt St gl

A) 450
B) 275 J
C) 250 J
D) 475 J

e Tt s H yeenfires Sumg i gElt e
TS S TR | TS hen # gt % FR A
Taehi gl fosett wan @ QTR R | g@d w
# g Ity R

A) 4.8
B) 48+/2 He
C) 24%
D) 24+/2 =

T ug @ W A= qtesta el
X-foront % g v St @ | forw andsta
arelt X-frwt it Wem wui 7

A) 2A
B) 4A
C) 6A
D) 8A
02 EE(LE)



47. The ratio of the longest to shortest
wavelength in Brackett series of
hydrogen spectra 1s

A) 9
5

B) 17
6

. 2
) 9
Di

) 3

48. In a nuclear reactor, the fuel is
consumed at the rate of 1 mg/s. The
power generated in kilowatt is

A) 9x 10*
B) 9 x 10’
C) 9x 10°
D) 9 x 10"

49. A freshly prepared radioactive sample
of half-life 4 hours emits radiation of
intensity which is 64 times the safe
level. The minimum hours after which
it would be safe to work with it is

A) 4 B) 24
C) 12 D) 16
50. The radioactive decay of uranium into

thorium is expressed by the equation
65 U? —— o Th®* + X where X is

A) An electron

B) A proton

C) A deuteron

D) An alpha particle

A

47.313@3?%3%?%%@@113@@‘1
A TEd B TR B I

B) —

C <

D)g

48, T TR frreet #, 39 w1 ITHM
1 mg/s N T I A ] | Ieaniead Wi
freiame # 8
A) 9x10*

B) 9 x 10’
C) 9x 10°
D) 9 x 10*2

49. 4% & YUY A<l T AN ST T
et o g @ 64 7O Al
g w1 fafer scafla wt@ ? | 98

=Fad e fh 91¢ 39 WY HE S
gifiaa qrm

A) 4 B) 24

C) 12 D) 16

50. FEm @ ditem § e fawe =t
62U —— oo Th*** + X wlisrtn gra
weffa fran sian @ &l X R
A) T TR
B) T WA
C) T SgH
D) Teh 3TCHI Ul

02 EE(LE)




ENGG. CHEMISTRY

51. R—NH, + CHCI, + 3KOH —¢3t

R - NC + 3KCl + 3H,0
This reaction is known as

A) Carbylamine reaction
B) Sandmeyer reaction
C) Gattermann reaction

D) Hinsberg’s reaction

o @ CO,HCl  _ @CHO
' Anhiyd. AICL,/CuCl ‘

This reaction is called
reaction.

A) Gatterman-Koch
B) Etard

C) Stephen

D) Acylation

53. also known as wood spirit was
produced by destructive distillation of
wood.

A) Methanol
B) Ethanol
C) Propanol
D) Butanol

54. Deficiency of causes

convulsions.
A) Vitamin A
C) Vitamin B,

B) Vitamin B,
D) Vitamin B,

55. 4HCl + 0, —-2 5 5C1, + 2H,0
This 1s process.
A) Deacon’s
B) Wilson's
C) Sandmeyer’s
D) Baeyer’s

.  Page No. 16

s1fr. A fasm
el

51. R — NH, + CHCl, + 3BKOH ———
R — NC + 3KCl1 + 3H,0 :
A) HETFAIHH srfufsean
B) derfrr sk
C) N arffshar
D) fEent arfufean
CO, HCI

©0H0
' SRR AICL/CuCl

3q arfufsean FAffsran
FEart 8 |
A) -5
B) 8
C) V%A
D) THTSAHI
53. R g ffe oft =g o 7, ©iel
¥ Ui TEE g Icqtied foFan wmat # |
A) AT
B) 3oHTa
C) NuATA
D) =gt

54. N =l ¥ FgeTH BT R
A) faafim A B) feifia B,
C) fwiftm B, D) feifim B,

52

55. 4HCL+ 0, —2 3 901, + 9H.0
RE P S 4
A) T
B) faeam
C) Hei
D) =
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56.

57.

60.

61.

The addition of to butter
increases its shelf life from months to
years.

A) BHT
C) BTH

B) BHA
D) BAH

is responsible for the nasal
congestion associated with common
cold and allergic response to pollen.
A) Histamine
B) Cimetidine
C) Ranitidine
D) Meprobamate

. Nylon 6 is obtained by heating

with water at a high temperature.
A) ethylene glycol

B) caprolactum

C) terepthalic acid

D) adipic acid

and albumins are the common
examples of globular proteins.

A) Keratin B) Myosin
C) Insulin D) Glycin

1s insoluble in water and
constitutes about 80 — 85% of starch.

A) Cellulose B) Lactose
C) Amylose D) Amylopectin

Tear gas is

A) CCLNO,

B) COCl,

C) Ca(OC)),

D) C1 CH,CH,S CH,CH,CI

V.

56.

57.

58.

59.

60.

61.

e No.17)

e o e @ sEehl e
Jraft adiFt & 9u] 96 9ers 1 Tehdt ® |
A) BHT B) BHA
C) BTH D) BAH
YU T o T TS 3 sy
M B S I €2 8F % U ITeE B |
A) fewfm
B) Rmereda
C) Hierdm
D) AWETe
AIAE 6 T I= A W A F 91
I T fpT SR ¥ W B R |
A) AT TATgRIA
B) *uicideH
C) Aifes 3
D) tfefer 3t
3R TeHfE MawR 9EE F
[T 3ETET & |
A) TR B) "mifEA
C) sgfem D) =ERe
I H FYTANS & IR RN H
80 — 85% few=m swr@n @ |
A) S B) R
C) mrEeiE D) THREANER
3y R
A) CCLNO,
B) COCl,

C) Ca(OCl),
D) Cl CH,CH,S CH,CH,CI
02 EE(LE)



56.

57.

58.

59.

60.

61.

The addition of to butter

increases its shelf life from months to
years.

A) BHT
C) BTH

B) BHA
D) BAH

1s responsible for the nasal
congestion associated with common

cold and allergic response to pollen.
A) Histamine

B) Cimetidine
C) Ranitidine
D) Meprobamate

Nylon 6 is obtained by heating
with water at a high temperature.
A) ethylene glycol
B) caprolactum
C) terepthalic acid
D) adipic acid

and albumins are the common
examples of globular proteins.
A) Keratin B) Myosin
C) Insulin D) Glycin

is insoluble in water and

constitutes about 80 — 85% of starch.
A) Cellulose B) Lactose

C) Amylose D) Amylopectin

Tear gas is

A) CCL,NO,

B) COCl,

C) Ca(0OC()),

D) C1 CH,CH,S CH,CH,Cl
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Y

56. AFET o e @ gEehl Werw
Jafy vt & 9ul aw 91 o1 g B |
A) BHT B) BHA
C) BTH D) BAH
57. T ST < ST TeAstl 3R A=
M W IS T a9 B 5 AT Ieerhi B |
A) Tt
B) fmergdia
C) HHiersd
D) AdETe
58. T 6 Teh I=d A T Id & 91Y
=l T oy 9 QW S R
A) UTEAN 3RS
B) $Wden
C) T Afess a1
D) tfefis
59. 3R Tefe MR WA H
AT IS R |
A) fRifes B) wEifE=
C) sgfem D) =i
60. ST H Ageeie ® 3 W W
80 — 85% fewan = man 2 |
A) S B) d®RN
C) mEAE D) TEENEA
61. 3 W
A) CCLNO,
B) COCl,

C) Ca(OC),
D) Cl CH,CH,S CH,CH,CI
02 EE(LE)



63.

64.

66.

The almost identical radii of
a consequence of the

and .
lanthanoid contraction.

A) Ce and HO
B) La and Er
C) Zr and Hf
D) Nd and Lu

Higher levels of in air causes
dizziness, nausea, tingling and
numbness in the fingers and toes.

A) chloroform
B) trichloro methane
C) tetrachloro methane

D) methylene chloride

Phenol is converted to on
heating with zinc dust.

A) aldehyde B) ketone
C) acid D) benzene

. The commercial alcohol is made unfit

for drinking by mixing in it some
copper sulphate and

A) Kerosene

B) Pyridine

C) Chloroform

D) Carbon tetrachloride

For a first order reaction t% is
A) proportional to [R],

B) independent of [R],

C) depends on [R],

D) zero

Page No. 18

6o. 3 £ ST TR
2ft freen SdTEE HpeA & U B |
A) Ce 3R HO
B) La 3R Er
C) Zr 3R Hf
D) Nd 3T Lu
63. ag F1 Io9 W AR,
St e, InfEl ok A # Huedt IR
T AT 2 |
A) FARIBH
B) grEaid Hieq
C) gmaeAit ieq
D) Hemsela Fss
64. faTer SR 1 g & |1Y T AT I A
# ufafda & ot 2 |
A) TERTES B) #1d=
C) ar=a D) =R
65. aITAE Fehiga & N1 & fau @
T & U 3% A1 $ FHIW Tohe IR
Toreman sman 2
A) HUEH
B) urslifen
C) ARG
D) T ZENES

66. T wuw hH <ht il A t% 2
A) [R], % wwTuTdt
B) [R],®
C) [R], W fiit
D) =
02 EE(LE)



is the purest form of
commercial iron and is prepared from
cast iron by oxidising impurities in
a reverberatory furnace lined with
haematite.
A) Steel
B) Pigiron
C) Cast iron

D) Wrought iron

67.

68. is used for refining Zirconium
or Titanium.

A) Hall-Heroult process
B) Solvolysis

C) van Arkel method
D) Mond process

69. The spontaneous combustion of

A

phosphine is technically used in q BRCH] a2 |
A) Flash lights A) T ARE
B) Holme’s signals B) 8cH & Hehd
C) QLED’s C) wied
D) OLED’s D) 3Hiigd
70. Oleum is 70. Afaaq 3
A) H,SO, A) H,SO,4
B) H,SO, B) H,SO,
C) H,S,0, C) H,8,04
D) H,S,0, D) H,5,0;
71. is non-narcotic analgesics. 71. U -Ahiies ceEt & |
A) Morphine A) HITHH
B) Heroin B) U
C) Codeine C) HrEA
D) Aspirin D) wedife
D o2 BE(LE)

67. == =2 7 770
&9 2 3R 97 zeal die 3 2EeE B T3
T1eht U TEdAl Wi 8 Aied 5 3TEE
A P I 2
A) ==
B) fueai =it
C) T=al ara
D) H==1 |iEl

68. 1 JET FHIHEE 90
TTseam % for & 2 |
A) FA-3ee TR
B) Arcaiaras
C) 3 Fhd fata
D) His 9

69. FITHIET H1 THITH <51 aoAls =9 F




72.

73.

74.

75.

76.

is used for manufacturing
conveyor belts, gaskets and hoses.

A) Buna-N

B) Neoprene

C) Buna-S

D) None of the above

is Freon 12.
A) CCLF,
B) CCL,F,
C) CCLF
D) CCLF

Salicylaldehyde is present in

A) Vanilla beans

B) Cinnamon al v\XO
C) Meadow sweet ™

D) Sunflower

Oxidation of ammonia into nitric oxide
occurs in the presence of
Ostwald’s process.

A) finely divided nickel
B) finely divided iron

C) platinum gauze

1n

D) sulphur trioxide

1s an example for triclinic
crystal system.

A) CaSO,
B) BaSO,
C) H,BO,
D) KNO,

72.

73.

74.

75.

76.

e e e, e A
3 A T F oAU B R )

A) =A-N
B) =

C) =1-S
D) Sugwd # | IS T

fraiT 12 8 1

A) CCLF,
B) CCLF,
C) CCLF
D) CCL,F

¥ IufRm
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78.

79.

80.

81.

is the percentage of total
space filled by the particles.

A) Packing efficiency
B) Thermal efficiency
C) Energy efficiency

D) Space efficiency

1s also called dislocation
defect.

A) Impurity defect
B) Interstitial defect
C) Frenkel defect
D) Vacancy defect

The unit of Ebullioscopic constant K, is
A) K kg mol™

B) K kg™' mol™

C) kg K™  mol™

D) K kg mol

The value of van’t Hoff factor i gets
close to for K,SO,.

A1
B) 2
C) 3
D) 4

Acyl chloride is hydrogenated over
catalyst, palladium on barium
sulphate. This reaction is called

A) Gatterman-Koch reaction
B) Rosenmund reduction

C) Stephen reaction

D) Etard reaction

il

78.

Yl g R T A SIH R
it 2 |

A) eI &Hal

B) Suftg &mar

C) 1 &FHdl

D) T &

areraee faer ff FEamr @ |

- A) gl fem

79.

80.

81.

D) 3erE arfufsran

B) 3aueia fawr
C) Thehet farpR
D) e fawr

FaeHRAT (sgferrehiius) fads K, 6
T 2

A) Kkg mol ™!

B) K kg™! mol™

C) kg K mol™

D) K kg mol

K,S0, % fe am= g% orh i 1 7
F e dm |

A1

B) 2

C) 3

D) 4

TEEA FEIES <l SREH Gothe W Ao feam

I W ERSISHGG fFa1 @ R}, W
arffsran wea € |

A) fed-wim arfifssa
B) qSg 3=
C) Ve Afiyfsran

02 EE(LE)
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82. Commercially glucose is obtained by
hydrolysis of starch by boiling it with
at 393K under pressure.

A) HI

B) dilute H,SO,
C) NH,0H

D) HCI

83. Nylon 2-nylon 6 is an alternating
polyamide copolymer of and
amino caproic acid.

A) adipic acid
B) alanine
C) glycine

D) E-caprolacteum

84. 1s the most successful and
widely used artificial sweetener. It is

roughly 100 times as sweet as cane
sugar.

A) Sucralose

B) Aspartame
C) Saccharin

D) Alitame

85. Transparent soaps are made by
dissolving the soap in and
then evaporating the excess solvent.

A) glycerol

B) acetone

C) rosin

D) ethanol

82.

83.

84.

85.

aifirfers TE 393K W GEE % ity
) ___%mnﬁmw
mmmﬁmm%!

A) HI

B) 73 H,S0,

C) NH,0H

D) HCI

A3 2-A-A 6,
IR A SWTH I T T Ifoys
qIeAl3Tse HEagas 2 |

A) wfsfus 3

B) TS

C) wmsRm

D) E-suifadey

Taies qhet 3IR terivm:
AR € e, HHEm fresd R | 9w 1=
= = ¥ 100 7o et BT 2

A) T

B) wrey

C) &shi9

D) uefien

[ Phge No. 23 02 EE(LE)




88.

89.

90.

is a positively charged sol.

A) Haemoglobin
B) Starch

C) Eosin

D) Congo red

. The formation of micelles takes place

only above a particular temperature
called

A) Elevation point

B) Critical temperature (T,)
C) Freezing point

D) Kraft temperature (T))

The calculated magnetic moment for
Zn®" ion is
A) 2.9
C) 1.8

B) 2.2
D)o

Example for the solutions that show
large negative deviation from Raoult’s
law form maximum boiling azeotrope
at a specific composition

A) Ethanol-water
B) n-hexane and n-heptane
C) Benzene and toluene

D) Nitric acid and water

In a first order reaction, time required
for completion of 99.9%1s times

of half-life (¢ 1) of the reaction.
A) 50

B) 20

C) 5

D) 10

PageNo. 23

86.

87.

88.

89.

90.

TS YA €4 A ST

g g |

A) gmrerifer

B) W=

C) A

D) i a1

oSt v Fmfor oo oy qromm, @
FEA Y, FIRA SR |

A) 3= foig

B) Tisfit aen (T,)

C) femie forg

D) ¥ @A (T,)
7n2* 3T ¥ iR g I @

B) 2.2
D) O

A) 2.9
C) 1.8

e AR d w 3iftekad Iserdr
fRrganrh R art 3R Tsee & fam |
i e faem guiv 9 feam
T IR ]

A) 39ATE-Sa

B) n-g@@ 3R n-g=A

C) i 3R AgeA

D) i 3na 3 9@

W M Y Safafsear § 99.9% % ot 8
% fore sifea wwm sifwisen 6t sy (ty)
kl R | |

A) 50

B) 20

C) 5

D) 10
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91. The number of reacting species taking
part in an elementary reaction, which
must collide simultaneously in order
to bring about a chemical reaction is
called of a reaction.

A) order

B) molecularity

C) metastable state
D) reactivity

92. The styptic action of and ferric
chloride solution is due to coagulation
of blood forming a clot which stops
further bleeding.

A) alum

B) haemoglobin

C) magnesium chloride
D) ferrous chloride

93. Colloidal 1s used in curing

Kalaazar.
A) gold B) silver
C) antimony D) lead

94. Copper matte contains
A) Cu,0 and Fe, O,
B) Cu,S and Fe 0,
C) Cu,0 and Fe, 0,
D) Cu,S and FeS

95. also called saccharin, is
the first popular artificial sweetening

agent.

A) Sucralose

B) Para-sulphobenzimide
C) Meta-sulphobenzimide

D) Ortho-sulphobenzimide

(i No 21

91. e ey aifR o v o areh st
sl 1w S U wEn A
H FO F fau ok @ T 8, kg
& el 8 |
A) HH
B) 3ATfoerehan
C) adfer feufd
D) Afufsrarcaendr

92. 3 B FANES foemm R
RIuS B3R oeem o9 O T % Thad
F HRUT Bt & Frad e &6 S g |
A) Trentl
B) gmrefed
C) HifsEm wss
D) WH FANES

93. HfAAT _ HICEIR Hl YHAH &

e s Bt 2 |

A) @i B) =i

C) wiwHt D) H&
94, i A & a2 |

A) Cu,0 3 Fe,0,
B) Cu,S 3R Fe,0,
C) Cu,0 3R Fe,0,
D) Cu,S 3R FeS

95. 1 &%K0F off wea B, 78 vum wiiE
Fem T tfireds R |
A) TheAN
B) T-wewresiTge
C) T-HedlasiuEe
D) Jnf-wewrisinmgs
02 EE(LE)
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96. In one dimensional close packed
arrangement, the coordination

number is
A) 3
B) 2
C) 4
D)1
97. is used in the treatment of

lead poisoning.

A) D-penicillamine
B) EDTA

C) Desferrioxime B
D) Cis-platin

98. In mercury cell, the electrolyte is a
paste of

A) HgO and Carbon

B) Zinc-mercury amalgam
C) HgO and ZnO

D) KOH and ZnO

99. The sum of powers of the concentration
of the reactants in the rate law
expression is called the of that
chemical reaction.
A) order
C) elementary

B) molecularity
D) half life

100. The decomposition of gaseous ammonia

on a hot platinum surface is a

order reaction at high pressure.
B) first
D) third

A) zero

C) second

96. T fonfig g Jwe =y #, TN
e
A) 3
B) 2
C) 4
D)1
97. MR AN @@ S s@mrd
T BT 8
- A) D-Ufyemmrga
B) EDTA
C) feawitarieasy B
D) fea-wmfen

98. YR I g H,
forea oTaacT B |
A) HgO 3R %=

B) sreqr-m fasreng
C) HgO 3R ZnO
D) KOH 3R ZnO

99.  fram arfv=afa o stfvesdst € i
6t wfF w1 9w, vt sfiie w5

T T o

e & |
A) 4 B) anfuaerar
C) drfca= D) 3y

100.@7ﬁ‘ﬁﬁ'—mggq(ﬁ;ﬂ-qmﬁmm
v

o, o1
A) 1= B
0) g

D) iy
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101. The total number of terms in the
expansion of (x + a)°! — (x—a)lis
A) 102 B) 25
C) 26 D) 51

ENGG. MATHEMATICS

102. If the 21* and 22™ terms in the
expansion of (1 + x)** are equal,

then x =
8 21
A) 7 B) 22
23 7
0 o4 D) 3

103. If A is a square matrix such that
A’=T then A-T)°+ (A+T)°— 7A =

A I+A B)I-A
C) A D) 3A
0 0 5
104. The matrix A={0 5 0] isa
5 00
A) Scalar matrix
B) Diagonal matrix
C) Identity matrix
D) Square matrix
2 .13
-1
105. If A = 2 4 and B=|4 -2,
-4 5 1 1.8

then

A) Only AB is defined

B) Only BA is defined

C) AB and BA both are defined

D) AB and BA both are not defined

106. If f(x) = x + cotx, then sin’ £(x) + 2x =
A) —2f(x) B) f(x)
C) 2f(x) D) —f(x)

arfer. nifora
101. (x + @) — x— )" % fereqror 7 wgi A
gﬁré@!ﬂ%
A) 102 B) 25
C) 26 D) 51

102. afe (1 + x)** & fermmor & 214 3k
22df qe U= §, a1 x =

8 21
A) 7 B) 2
23 7
0 5 D) £

103. 4f¢ A Teh 1 ATSYE 36 YR 2 6 A2=1,
ATA-D*+A+D%—7a=

A I+A B)I-A
C A D) 3A
0 0 5
104. =Yg A=|0 5 0|, T
500
A) Fifew amegg
B) fereput
C) acaqs
D) = aneyg
2 -1 3 #i
105.aﬁA=[_4 L 1]343”3=‘11 _i
], @
A) %99 AB vfonfyg 2
B) %@ BA ufowifi 2

C) AB 3R BA @i wfonfyg &
D) AB 31k BA 3rit ity w3

106. A f(x) = x + cotx &, A sin’x (%) + 2x =
A) -2f(x) B) f(x)
0) 2f(x) D) —f(x)
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107. If y= Jx + J;r +Jx +J¥ +.... , then

dy _
dx

A)

v+ X
y2—2x

v —x
2y2—2xy—1

B)

y —x
2y2—x

C)

v’ -x
2y3—2xy—-1

D)

108. The sides of an equilateral triangle
are increasing at the rate of 2 cm/sec.
The rate at which the area increases

when the side is 10 cm is
A) 10 cm?/sec
B) V3 ecm?sec

C) 10 J3 cm%/sec

D) 139 cm?/sec

109. Equation of the tangent to the curve
y(1 + x2) = 2 — x where it crosses

107. afg y=\/x+\/y+,}x+\/§?: g, @
dy _

B) 2y2 - 2xy -1

y2-x
2y2—x

C)

y?-x
2y3—-2xy—1

D)

108. Q%H‘Hﬁ'@ﬁ‘ﬂﬁﬁm 2 cm/sec i

=
WA E |9 YT 10cm 8, @I 4
@ g W &Fwa T8 W B \/Il;,;’z,w‘f
SHTE
A) 10 cm?/sec \E A€
B) /3 cm?/sec \’\;(J'}
C) 1043 cm?/sec g -3
(e e oF
D) % cm?/sec /_//,\ ¢z fle° :
s o of

109. Ssh y(1 +x2) =2 — x W T {@T T FHET S
T 8 TR 9% x-S IR S RO

X-axis 18 Ll R
A) x+5y=2 L e SI3%5
A) x+5y=2 1 4]
B) 5y =9 B) x—b5y=2 PO .
x -5y =
C) 5x—y=2 C) bx—y=2 oS
D) bx+y=2 D) bx+y=2
A o (D 02 BE(LE)
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s j‘sinﬁxd’:
" Y cosBx
7
A) _tan X +C
7
tan7x
B +
) 7 C
0) —N\C
cos' x
D) 1 +C
7cos’ x
111.

112,

113.

One vertex of a square ABCD is
A(-1, 1) and the equation of one
diagonal BD is 8x + y — 8 = 0, then
O =

A) (-5, 3)
B) (5, 3)
C) 3,-3)
D) (2, 5)

The point of intersection of any two
straight lines of the family of straight
lines (1 +2k)x + (1 +k)y — (8k + 2)=0,
ke Ris

A) (0, 0)
B) (1,1)
C) -1, 1)
D) (-1, 2)

The inclination of the linex —y +3=0
with positive direction of x-axis is

A) —135° B) 135°
C) —45° D) 45°
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111.

112.

113.

)] 7

D) — +C

Tcos' x

Tt ABCD #1 T& i A(-1, 1) 3l @&
ool BD & &l 3x +y — 8 =0 B,
@C =

A) (5, 3)

B) 5,3)

C) 5,-3)

D) (2, 5)

et T@med (1 + 2k)x + (1 + k)y —
(Bk+2)=0,ke R 5o &t i @

et it @ wieden fig R

A) (0, 0)

B) (1, 1)

0 1,1

D) (-1, 2)

x-g{ 1 erees feem % @y
X—y+3=0%H FHe g

A) -135° B) 135°
C) —45° D) 45°

02 EE(LE)




114. The reflection of the point (=3, 4) in
the linex—y=01is
A) (3, -4)
B) (4,-3)
C) (-3,-4)
D) (-4, 3)

115. The distance of the point P(1, —3)
from the line 2y —3x =4 is

114, @1 x —y = 0% &g (-3, 4) T TEEA B

A) (3,-4)
B) 4,-3)
C) (-3,—4)
D) (-4, 3)

115. @l 2y—3x=4z‘4ﬁ§P(1,—3)aﬁ§ﬁ%

A) 13 3918

A) 13 units
13
713 . B) L2yE] TS
B) 13 units 13
C) J13 units ) V13w
D) None of these D) ¥H & IS T8l
16. lim —Sinx __ 16. lim —SInX _
: x— 0 (1 + cosx) o xl—l>no(1+cosx)
A1l A1
1 1
B) 3 B) 5
C) 0 ONY
D) -1 D) -1
. sinx°® _  lim SInX° _
117. xh_r)no—;{—— - A xl—r>no X
A) 1 A1l
B) T B) T
T
T e A8
9)) 180 C) 180
180
180 D) —
D) s ) -
A (i No 29) 02 EE(LE)




118

119

120.

121.

. If Iim

2 .3 n
X+X"+xX"+....+xX" —n
X -0 _5s,
x -1

X —1

then n =
A) 10
B) 5
C) 50
D) 11

If 3sin(x + y) = log(x + y), then
ay _
dx?

A) O
B) 1
C) cos(x+y)
D) -1

Ify= 1—x+x2—x3+....—x99+x100,

then g’—y atx=11is

X

A) 150
B) -50
C) —-150
D) 50

If a particle moves according to the
law x = e, then its velocity at time

t=01is

A1

B) 0

C) e

D) None of these

118.

119.

120.

121.

(Pigeo. 0]

A 3 n_
+x“+x"+...+X —n
XEX N =b5

x -1 B

ol
g, dn=

A) 10

B) 5

C) 50

D) 11

afe 3sin(x +y) = log(x +y) 8, dl

d’y _
dx?

A) O

B)1

C) cos(x +y)
D) -1

100
Jry=1-x+x—x3+....—xP +x

2 Arx=1w W g
dx

A) 150
B) -50
C) -150
D) 50

G TH H01 x = o' & From F arEr
T R, W W £ = 0 W TR AT D

A) 1
B) 0
C) e

D) s @ s 7
02 EE(LE)




192, H A= tn
0 0 2

123.

124.

}x 0 0
vy O

3x3

0
Blo IV o

1 0
C) |0 1
0

= o O

D) Does not exist

The range of sine function is
A) LD

B) -1, 1)

C) R—-(-1,1)

D) None of these

If f(x) = x, then f'(x)=

A) xx 1

B) x* (1+1logx)
C) x* (1 —logx)
D) None of these

; then inverse of

(pagio i)

123.

124.

Blo 1/ o

(1 0 0
c)lo 10
0 0 1

D) it & 7

< berd Al B
A) (-1,1)

B) [-1,1)

C) R-(-1,1)

D) S & HI8 T

IR fx) =x* &, @ £'(x) =
A) xx*7!

B) x* (1 + logx)

C) x* (1 - logx)

D) 1 ¥ wig 7
02 EE(LE)
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N
\

b

125.

126.

128.

~1
. tan"lx [im A =X =
i A BEEELIE
A) 1 A) 1
B) —1 B) -1
C) 0 C) o
D) Does not exist D) ftaca 4 =& 2
The probability of A occurring is 0.5 126. A € & Wikt 0.5 3T B & g4 i
and that of B occurring is 0.3. If A TiRreRd 0.3 @ | Ife A 3R B 9 39
and B are mutually exclusive, then § A9 AT B TR arft
probability that neither A nor B ’
occurs 1s
A) 0.6 B) 0.5 A) 0.6 B) 0.5
C) 0.7 D) 0.2 C) 0.7 D) 0.2
. The mean and variance of a binomial 127. W& fguda e =1 arey 3 fa=on
distribution are 4 and 2 respectively, HAS: 4 3R 28, 91 2 it
then the probability of 2 successes is Tfrehdr 8
37 219 37 219
A) == B) — o ===
) 356 ) 256 a) o B 556
128 28 128 28
© %56 D) 956 © 556 D) 356
The probability that a leap year 128. Igfeas ¥4 & I T ©F g 99 F a1
selected at random has either @ 53 AR A 53 IEFER B ) TTReRar
53 Thursdays or 53 Fridays is By
1
A 7 a1
2
B) = 2
) - B) =
0 5 5
) - 0) -
3 3
D) = D) 7
CREED 02 BELE)
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100, If a, b, c are in A.P., then the straight

line ax + by + ¢ = 0 will pass through

a fixed point whose co-ordinates are
A) (1, -2) B) (1,1
C) 2,1) D)8, 2)

130. 1f the li.ne 2x +y = k passes through
the point which divides the line
segment joining the points (1, 1) and
(2, 4) in the ratio 3 : 2, then k’=

A) 5 i

B) 6 \\‘\y
4 I W

0 % Ny \ +)
29 (c’\l‘

D) 5 M

131. If /Li-cﬂié=l‘-,then tan A =
1-cosA y

x2 +y®
A 52
X"—=y
2xy
B) ——
) x2+y2
2xy
C) 5=
:{2--Y2
_2xy

D
) VX

100 :
132, If (V3 + i = 999 (g + ib) , then

a? +b%= 259 e i)
NE (\fwﬂ e
By4 - 5

C) 6 s yi;,"l.“(; }f

129, af a, b, ¢ e it i &, A el @
ax+by-+-c=C”I"‘Ffzn‘;f‘?mﬁgﬁ1~T:'ﬁff‘r
oo fréaie §
A) ,-2)

C) (@2 1)

130, afz  2x + y = k 7 firg A Tl &, <A
figatt (1, 1) 3hT (2, 4) 1 A ATt TTES
1 3 : 2% o 3 fnnfor e &, Ak =
A) 5
B) 6

11

5

29

5

B) (1,1)
D) (3,2)

C)

D)

131, @R [LHCosA _X 3 dttanA=
1—-cosA Yy

x2 +y?

A
) 2y

By - =%
C) =3

D) =_ 2

o, 7R (VB +1) =20@+ib) {

a2+b2=

A) 2
B) 4
C) 6
D) 8

02 EE(LE)




135.

136.

137.

Value of i +i° + 1% + .... upto 100
terms (i = \/:T) 18

A) 1

B) -1

C) 0

D) 2

133.

If 2+i+/3 is a root of the equation
x’+ px + q = 0, (where p, q are real)
then (p, @) =

A) 4,-7)
B) 4, 7)
C) (4,7
D) (-4, -7)

134.

The coefficient of x" in the expansion

of (1 +x)* and (1 + x)* ! are in the

ratio

-A) 1:2
B) 1:3
C)3:1
Iy 221

The distance between the lines
2x-3y+7=0and 2x-3y—-6=01s

A) V14

B) V13
C) V15
D) 16
The point of intersection of the lines
x+y=0and2x-y=9 is
A) 3, 3) B) (2, 3)
—C) (3,-38) D) (-3, 8)

133.

134.

135.

136.

137.
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i

{+i2+13+ ... 100 9& T (i:ﬁ})
=1 TH 2

A1l

B) -1

C)o

D) 2

afe T x%+ px +q = 0 I 2 +i/3
2, (&l p, q AR ) W (p, @ =

A) (4,-7)
B) (4,7)
C) (4,7)
D) (-4,-7)

1+ 0P @ +x)* ! % foawo &
X FHH__ K APAHR |

A)1:2
B)1:3
C) 3:1
D) 2:1

W@t 2x— 3y + 7T=03W 2x— 3y —6=0

%ﬁﬁ@% 9('\\’ < Y

A) 14 o W

B) V13  (°.

OVIE -
M

D) V16 L

@ist x +y =0 afk 2X -y =9 &
A) (3, 3)
C) (8,-3)

B) (2, 9)
D) (-8, 3)

02 EE(LE)
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139.

140.

141.

142.

if the diagonals of a rhombus are

6 em and 9 cm, then its area is
B) 27 cm®
D) 17 cm”

A) 28 (:m2
c) 30 em”
if sin A = 0.4, then cos 2A =

A) 0.70 B) 0.68
C) 0.72 D) 0.8

The value of cos(—=765°) is
oy

B

0

D) None of these

1 gx=Alog(x+1)
Ifj(x+1)(x—2) D

A A+B=0
B) A-B=0 o CF
C) AB=1 ,1.“
D) AB=-1

If [x] is the greatest integer
2

function, then j[xQ]dx =

0
) 5-v2+V3
B) 52 -3
C) 52 -3
D) 5+\/—’\/§

138. 3¢ T FH=qH % vl 6 cm 3 9 cm

139.

140.

141.

142.

2, @ TE A% B
A) 28 cm® B) 27 cm?
C) 30 cm® D) 17 cm®
Ife sin A= 0.4 8, cos 2A =
A) 0.70 B) 0.68
C) 0.72 D) 0.8
cos(=765°) =l "1 ?

1
A) 7
B) :/1-2—
C) ?/13
D) ¥ & HIE T

1 dx=Alog(x+1)

A) A+B=0

By A—B=0

C) AB=1

D) AB=-1
w%[x]naﬂn@ﬂa;w%,ﬁj;[x ]d"”
A) 5-+/2++3

B) 5-v2-+3

C) -5-42-438

D) 5++2-+3

02 EE(LE)



143. Area of the parallelogram whose
adjacentSIdesarel+k and ngﬁ§+l§3ﬂt2i+j+l’;%?
21+J +k is
A) 3 A) V3
B) 4 B) 4
C) V2 C) V2
D) 3 D) 3
X - 2 S g idn e NG 2
144. If [axb| + [a-b| =144 and 144. I [a x b +[a 5] =144 ain
,a’=4,then'b, K)U””X ,al=4%,?ﬁ'b|=
A) 16 Gy A) 16
B) 8 & B) 8
C) 3 C) 3
D) 12 D) 12
145. Ifa and b aretwounit vectors inclined 145. afe a 3R b < S |iew % & I
atanangle—g,then’3+l_)-, is ‘:R"ﬂ'a?'g,?ﬁ,g*‘gl%
A =1 A =1
B) <1 B) <1
C)>1 C) >1
D) = D) =0
cost t 1 cost t 1
146. If f(t)=|2sint t 2t|, then 146. afe f(t)=|2sint t 2t/ }, @
sint t t sint t t
lim_f_@.= lim —-~ f(t)
t—0 t2 t>0 2 ;
A) 0 A) 0 (1o 90 ee”
B) -1 B) -1 % Ne” L'o/{; :
C) 2 C) 2 o
28 D) 3 o llopoe _ yv
(i No. 0 02 EELE)
& 009° 1%
20 09
ok flacser

143. T SES 1 Qe =41 g, fEh)

el



N AAR
et g
3
o

147. 1f x, y, z are all different from zero 147, Ffe @t x, v, z 7 @ fir= € 3
1+x 1 1 1+x 1 1
and| 1 1+y 1 |=0,then 1 1+y 1 |=0g, @
1 1 14z 1 1 1+z
xT+y 427l 4s N R
A) xyz B) —x—y—z A) xyz B) -x-y-z
-1 -1 -
C) x ylz D) -1 0 x'ylz’ D) -1
148. If A is any square matrix of order 148. Ife AR 3 x 31 g ol R B, N
3 x 3, then |3A]| = |8A] = :
A) 3|A| A) 3/A]
1
1 1
B g B) £/4l
C) 9|A| C) 9|A|
D) None of these D) T F HIg A7
100 60 110 100 ' 100 60 110 100
149. If A = d B= 149. A= =
[20 10]8ln [10 10]’ R [20 10] [10 10]
then |AB| = 8, @ |AB| =
A) 10000 A) 10000
B) 20000 B) 20000
C) —10000 C) —10000
D) —20000 D) —20000
1 -2 2 1 w2 2
150. f A=| 2 1 ~-1[,then 150. A A=| 2 1 -1|% @
Y | o L |
det[ ad; (adj (adj A))] = det] adj (ad (adj A)| =
3 y
A) 15° B) 15° ) 15 B) 15*
y 8
0 15° D) 15° 45 D) 152
Page N). 37
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